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log(xy)=log x + log y
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> set.seed(15) # sample TTF—5%$EE

> X <- rnorm(15,2,3) # FHHERHNMEDIES BROBEEENZEHD
> ggplot(mapping=aes(sample=x)) # TF—IHERLEICESHESHTHE

+ geom_qq()+ geom_qqg_line() '

# R Tldrank TIEEZRY
> ( (rank(x)-0.5) / length(x) ) %>% gnorm() # b x EEIE
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set.seed(100)
N <- 250
xmin <- 0; xmax<- 10
x<- runif(N,xmin,xmax)
a<--10
b<-2
p <- exp(a+b*x) / ( 1+exp(a + b*x) )
y <- vector("numeric",length=N)
for(iin 1:N){
y[i] <- rbinom(1,size=1,prob=pl[i])
}
train <- tibble(x=x,y=y)
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b_Im1 <- glm(y™x, data=train, family=binomial) # family THHZIEETD
b_Im1

M <- 200
test <- tibble(
x = seq(xmin, xmax, (xmax-xmin) / (M+1) ) )
y <- predict(b_Im1,
newdata=test, type="response" )
test <- test %>% mutate(y=y)

ggplot(data=train,aes(x=x,y=y))+geom_point()+ +
geom_point(data=test,aes(x=x,y=y),size=0.1)
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® F—YICZEDRICHDIV—IZHETD

¢ F—Y%IIBRHDT—HFERIIADT—ZICRITDELHD
¢ (F—IDIEBEHI’HFERICHEIDIRLE) IEEE Y IILTD
¢ sample

¢ ExHbEIFETHE

sample(1:6,3) #1ho560HH 5 3E
sample(1:6,3,replace=T) # E it
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¢ iris HBPH(FL)DT—F(FT—FDHAXIF1501@)

¢ 3BHDOHH H<HRDBERUSDES

¢ EDR:CEMEDRITEDHNESD
@150EDEDZ120EE30EICH TS

X <- sample(1:150,120)

X

datal <- iris[x,] #17ESH x DEDETHE
data2 <- iris[-x,] #IIESH X ICEWEDETHHE




